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0=Rb/A=

W= 115 kg

S ——"

Al 18 lom?= [ 78 x10°|m?
o

He=| 547 [mm=" [ 0.547 |m

= 370 [mm="[ 0370 |m

L= 173 mm(Le=L/2)= [0.173 |m

Kh=Z+Ks= 0

z z Z

= 701.3

Q=Fh/N= 281.8

RILH (SS400)DFFRSIRIEH ft

z

MPa  <ft=176MPa
RILE (SSA00)DEHFEH AW fs
T=Q/A= 36 MPa  <fs=101MPa
fts=14ft-167=] 2406 |MPa
fts=|  176.0  |MPa
< fts=|  176.0  |MPa
=(pemIBERT H—
s 120 [mm=" [ 0120 |m
= 80 [mm="[ 0080 |m

LEOBEEREVYT U HA—HRIL MEHREEREEZET 5.

1050 330
X
A
( ——
@
U ~— A?G § N 9
( .
pu
U 1
| 17 v
- 600 L |
< L

*RIL FOFBEAES L VT 2 A—HRL FOSERFASIRFER. [RERWWERE - ETIRH2014FER] 2£ 5.

BELMIE

Hg = 547 mm
Lg= 173 mm
X= 400 mm
L= 370 mm



